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1| Ex5t | 5B 41040 Lokt 1010 1 360 360 360 o REHE X
2 | Z5ot | B 41040 Bekkkssk0017| 1 370 370 370 TAERLX
3 | MxAt | 4 |410404kkkkmiex1544] 1 270 270 270 TRER X
4| Fx | 4 |410401%kwkerik0024] 1 320 320 320 TARER X
B | Ml | 4 |410404kkkk0069] 1 520 520 520 RERE X
6 | ddili | 42 (41040 Bsskororr 1023 1 570 570 570 W REAE X
7 | 4% | & [41040 Ixkkkkkxk1020 1 270 270 270 o RERE X
8 | s | 4 [41040 Biokorrek0022] 2 420 420 420 TR X
9 | g | B [410482%kmsion8519) 1 360 360 360 (AT
10 | T3 | 5 [410401ssekkx1032] 1 300 300 300 It
11| x| 4 |41040 Dkkswkkrkk 1023 1 270 270 270 HE
12] Hx | B 41040 Iekkroerkx1037| 1 250 250 250 I
13] x| 4 |410401skkkeriork 1021 1 250 250 250 o
14] ik | 2 |41040 Iekkorx1027| 1 250 250 250 i
15] Xk | 2z |41040 Ikkrorirk1025] 1 270 270 270 =
16| Fk | 4 [410401%kkokior] 029 1 370 370 370 ElEs
17 FEx | Zr [41040 Issksokierk 1020 1 250 250 250 =
18| 5 | 4 |41040 ek 1041] 1 270 270 270 B
19 | Xt | % [410403%skkskk5540 2 600 600 600 TR
20| x5 | B [41040 Dksepksorx 053] 1 400 400 400 TREAE X
21 [ {3+ | B |41040 Lkrerssx0019] 2 540 540 540 TR
22 | 5k*3% | A |410404%kkkx1543] 2 600 600 600 TERERE X
23 | $pkzs | A |41040 Dkkorsororx102X| 1 300 300 300 B
24 | Fk4s | A 41040 ksiorsorx1026] 1 220 220 220 B
25 | §k*¥4 | 4 [410404kkpkikkx152X] 1 270 270 270 KA
26 | SOHFF | B [410404kkkkkkk0011] 1 570 570 570 TAERLIX
27| Zoxfs | J [41040 Diswororrx0014] 3 900 900 900 TRERE X
28 | it | B |41040Lkkeprkkx1013] 1 200 200 200 T T
29 | Exf | B 41040 Isksokorer 103X 2 740 740 740 B i T
30| Tkl | 42 41040 rrnnn0324] 1 300 300 300 TFEREX
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31| kL | 2 41042 1 skskkkkkokok0087 1 280 280 280 A X
32| i | 5 |41040 1sekekokotokokok 101X 1 260 260 260 Tttt X
33| FxFf | B 41040 Ikskssokokk 1011 1 400 400 400 AR IX
34 | [Fx35 | 4 [410404%kkpk6x1523] 2 440 440 440 JeAEAE X
35| Tt | B 41040 Ikskssrorkk 101X 1 450 450 450 e X
36 | HxZ | B |623059%kskkkkokk 4787 1 300 300 300 Tttt X
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1| Bfh | B [41040 1xkskketokk0055 1 340 340 340 WA
2 | doxvk | B 410401 0066£0010 1 570 570 570 A
3| x| 4 [41040 1500061067 2 940 940 940 A
4 | Bx3Z | 4 [410404%k50kk5k6004X 1 570 570 570 A
5 | B | B 41040 Lsksekekekk0019 1 440 440 440 A
6 | Fhkt | B [41040 kksokertokk 0015 1 355 355 355 A
7 | Fx | F 41040 kskekk6k0510 1 240 240 240 WA
8 | HxZ | B |41040 Ikksstokerk:0014 1 570 570 570 WA
9 | HxJ7 | BB 410404tk 151X 1 570 570 570 A
10| Bk | 5141040 kkserstordk0019 1 380 380 380 A
11| Fxhf | B |41041 Ikkstokskkeik555 1 1 570 570 570 A
12| #3+F | 4 | 410401 05k5550044 1 380 380 380 A
12 RPN 5925 5925 5925
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1| Bxdi | 5 [41040 1kssktokkkx0516 1 500 500 500 IRPEAEIX
2 | A58 | & |41040 Itttk (0527 3 900 900 900 IRPEAEIX
3| T | B [41040 1 sekkietkkx0513 2 600 600 600 ZRPEAEIX
4 | 5k | 2 |4104045kkk884%0029 1 300 300 300 WAL X
5 | k3% | & |410426%kkks5kkk 3545 2 400 400 400 IRPEAEIX
6 | WisxZE | 55 [41040 Lsekisksorsk 1030 3 1200 1200 1200 IRPHEIX
7 | ZexB] | B [4104045kksktok3k1510 1 400 400 400 IRPHEIX
8 | &V | B |410404sksksttekx1517 1 570 570 570 ZRPEAEIX
9 | skttt | 4 [413028s%ksksotote 1537 1 400 400 400 AEXHEX
10| Exzt | 5| 4104045040016 1 300 300 300 IRPLAEIX
11| ZEs4 | B [410404%k%5k55x1518] 2 800 800 800 NN
12| D | 4 [410404%k55k55x152X[ 2 600 600 600 P TN
13| Witk | 5B [410401sks0kk4x 103X 1 300 300 300 ZEEHEIX
14 |z | B (41040 Dekkkrrk0537 1 300 300 300 A X
15 | Tl | 22 [410404kkkokkiek 1501 1 400 400 400 e X
16 | Elx K | 5B [41040 Ikt 0556 1 300 300 300 ARXeHEX
17 | Bk | 5 [41040 Deksktersork053X 1 300 300 300 ARPAEX
18| D38 | 22 |410423%kkktkkk9544 2 600 600 600 IRDEAEIX
19 [ kx| B [410423skkktk46930 1 500 500 500 R IX
20 | g4 | B [410404%kkkkkkk0019 1 300 300 300 %X
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